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ANSWER KEY 
SECTION A: ENGLISH 

Read the following passage carefully and answer the questions from 1 to 5- 

One rainy day, while Badal was on his way home from school, he slipped on the muddy 

lane and fell into a deep pit. He tried hard, but could not come out of the pit. Badal’s 

mother was worried when he did not come home in time. Moti too was waiting at the 

gate. Badal’s mother gathered the neighbours to help search for him. Moti too 

accompanied them. 

Q-1. On his way home from school, Badal __________ 

Ans- d. both b and c 

FEEDBACK - Badal was on his way home from school, he slipped on the muddy lane 

and fell into a deep pit. 

 

Q-2. Meaning of Tried Hard is ______________ 

Ans- c. to make a strong effort to achieve something 

FEEDBACK – Out Of The Given Option This Is The Appropriate Answer 

 

Q-3.If Badal had not fallen into the pit, what would have likely happened? 

Ans- a. He would have reached home safely. 

FEEDBACK -  As Per The Passage This Is The Appropriate Situation. 

 

Q-4. Who gathered neighbours for searching Badal? 

Ans- b. Badal’s mother 

FEEDBACK - Badal’s mother gathered the neighbours to help search for him. 

 

Q-5.  Arrange these events in the correct order: 

1.Badal’s mother gathered the neighbours. 



2.Badal fell into a pit. 

3.Moti waited at the gate. 

4.Badal did not come home on time. 

Ans- a.    2 – 4 – 3 – 1 

FEEDBACK -  As per the given passage this is the correct order of actions happened. 

 

GRAMMAR 

6.Fill in the blank using the correct punctuation mark 

  Who was worried for Badal _____ 

Ans-    a.    ? 

FEEDBACK – Sentence Is Starting With Question Word So The ? Will Be Used. 

7.  Worry+ ied= ________ 

Ans - d. Worried  

FEEDBACK – As Per Grammetical Rule Worry+ Ied = Worried 

8.Tick the correct pair: 

Ans- c.   chair and table 

FEEDBACK -  Rest All Options Are Not Correct Pairs 

9.Rhyming  word for “ care “    is     ___________ 

Ans- b.  dare 

FEEDBACK -  Rest All Options Are Not Rhyming With Care 

10. Opposite of    happy   is   ___________ 

Ans- c.  sad 

FEEDBACK - Rest All Options Are Not Opposite Of Happy 

 

SECTION B: HINDI 

नीचे दिए गए गद्यांश को पढ़कर दनम्नदिखित प्रश्ोां के उत्तर िीदिये| 

सोमेश को कहयनी की दकतयबें पढ़नय बहुत अच्छय िगतय है |”पांचतांत्र की कहयदनययाँ “उसकी पसांिीिय 

दकतयब है |वह बतयतय है दक यह दकतयब बहुत रोचक है और इसमें ियनवरोां की कहयदनययाँ हैं |उसे 



इस दकतयब की सभी कहयदनययाँ पसांि हैं,िेदकन “िरगोश और कछुए”  की कहयनी सबसे ज्ययिय 

पसांि है |क्ोांदक इस कहयनी से हमें यह सीि दमिती है दक हमें कभी भी हयर नही ां मयननी चयदहए | 

इसदिए वह इस दकतयब को बयर-बयर पढ़तय है | 

प्र०1  सोमेश की पसांिीिय दकतयब कय नयम क्य है? 

 (ब) पंचतंत्र की कहानियााँ   

FEEDBACK - |”पांचतांत्र की कहयदनययाँ “उसकी पसांिीिय दकतयब है | 

 

 प्र०2  सोमेश को कौन सी कहयनी सबसे ज्ययिय पसांि  है  

(ब) खरगोश और कछुआ  

FEEDBACK - िेदकन “िरगोश और कछुए”  की कहयनी सबसे ज्ययिय पसांि है | 

 

प्र०3  इस गद्यांश में "दकतयब" शब्द दकतनी बयर आयय है ? 

(अ) चार 

FEEDBACK – दिये गए गिययांश में दकतयब शब्द कय प्रयोग चयर बयर हुआ है | 

 

प्र०4 "कहयनी" शब्द कय सही बहुवचन  शब्द चुदनए -  

(स) कहानियााँ 

FEEDBACK – वततनी के आधयर पर शेष तीन दवकल्प सही नही ां हैं | 

 

प्र०5  हर पि चिती ियती ची ांटी,  

श्रम कय रयग सुनयती ची ांटी।  

कडी धूप  हो यय हो वषयत,  

ियनय चुनकर ियती ची ांटी। 

उपरोक्त कदवतय पढ़कर दिए गए प्रश् हेतु सही दवकल्प चुदनये  

(i) ची ांटी दकसकय रयग सुनयती है ? 



(स) श्रम का 

FEEDBACK – िी गई कदवतय के अनुसयर यह दवकल्प सही है। श्रम कय रयग सुनयती ची ांटी।  

 

प्रश् 6.  नीचे िी गई कदवतय को पढ़कर बतयइये 

फूिोां से हम क्य सीिते हैं ? 

फूिोां से दनत हाँसनय सीिो,भौांरोां से दनत गयनय। 

तरु की झुकी डयदियोां से दनत,सीिो शीश झुकयनय। 

(अ) हाँसिा  

FEEDBACK – िी गई कदवतय के अनुसयर यह दवकल्प सही है। फूिोां से दनत हाँसनय सीिो 

 

प्र०7 शब्दोां की वततनी के आधयर पर सही शब्द चुदनए। 

(स) वर्ाा 

FEEDBACK – वततनी के आधयर पर शेष तीन दवकल्प सही नही ां हैं। 

 

प्र०8  “हवय शब्द” कय उदचत पययतयवयची शब्द समूह नही ां है- 

 (स) मेघ, वायु  

FEEDBACK – मेघ, हवय कय पययतयवयची नही ां है। 

 

प्र०9 अाँधेरय शब्द” कय दवपरीत अर्त वयिय शब्द है – 

(अ) उजाला  

FEEDBACK – दिए गए दवकल्पो में उियिय ही अाँधेरय शब्द कय दवपरीत अर्त वयिय शब्द है। 

 

प्र०10 दिए गए वयक्यांश के दिए एक शब्द बतयइए – िो दकसी से नय डरे | 

(ब) निडर  

FEEDBACK – िो दकसी से नय डरे उसे दनडर ही कहय ियतय है। 



 

SECTION C: MATHEMATICS 

Q-1. If Rama’s rocket has 2 cubes, 3 cuboids, 1 cone, and 2 cylinders, how many 

shapes are used in total? 

Ans- c) 8 

FEEDBACK – 2 + 3+ 1+2 = 8 shapes 

 

Q-2.  A cube has ________ faces. 

Ans- b) 6 

FEEDBACK – A cube has 6 faces. 

 

Q-3. Identify the shape of given object and select the correct option. 

b) Cone 

 

 

 

 

FEEDBACK – Given object is conical in shape. 

 

Q.4 Identify the number name which has 11 letters. 

b) Twenty eight 

FEEDBACK – In the given options, Only number Twenty eight has 11 letters. 

Q.5 What shapes are used in given toys? 

 

 

 

 

b) cone, cylinder 



FEEDBACK – In the given toy, Only cone, cylinder shapes are used. 

Q.6 Which shape has no edge? 

d) Sphere 

FEEDBACK – From the given options Only sphere has no edge. 

Q.7 Select the shape which has maximum corners. 

b) 

 

 

 

FEEDBACK – From the given options Only this shape has maximum corners. 

Q.8) How many circles are there in joker’s cap? 

a) five 

 

 

 

 

FEEDBACK – There are only five circles in this cap. 

 

Observe the given picture and answer the questions 9 & 10: 

Q.9) Count the number of cubes in the above picture 

a) 8 

 

 

 

 

 

 

FEEDBACK – There are only 8 cubes in the given picture. 



 

Q.10)  Identify the shape of face 

b) sphere 

FEEDBACK – The face of joker is spherical. 

 

Section D: EVS 

Q-1. How do you feel when you go to mela? 

b) Excited 

FEEDBACK – As per the given options, this is the most appropriate feeling. 

Q-2. Name the person who drives an aeroplane. 

c) Pilot 

FEEDBACK – Pilot drives and aeroplane. 

Q-3. Emergency vehicles in the mela are___________ 

d) All of these 

FEEDBACK – All the vehicles are considered as Emergency vehicles. 

Q-4. The fastest mode of transport is ________ 

a) Aeroplane 

FEEDBACK – Aeroplane is the fastest mode of transport. 

Q-5. Which mela is the world’s biggest festival? 

a) Kumbh Mela 

FEEDBACK – The world’s biggest festival is Kumbh Mela. 

Q-6. Your father's brother is your  _________ 

c) Uncle 

FEEDBACK – Your father's brother is your Uncle. 



Q-7. Identify the given picture: 

b) Merry go round 

FEEDBACK – It is the picture of Merry go round.  

Observe the given picture and answer the questions 8-9: 

Q-8. Pick the odd one out: 

     d)Art Gallery 

FEEDBACK – Art Gallery is not there in the picture. 

Q-9. It is the scene of __________ 

a) Mela 

FEEDBACK – It is the scene of Mela.  

Q-10. Which of the following is an indoor game? 

d) Chess 

FEEDBACK – Out of the given options, Only chess is an indoor game. Rest all are 

Outdoor game. 

 


